
cfly{s jif{ @)&&÷)&* sf] 

jflif{s k|ult ljj/0f 

ef}lts k'jf{wf/ ;ldlt-k|fljlws

zfvf,_ 

lkmlbd gu/kfnLsfsf] sfof{no, 

kfFry/

@)&* >fj0f !$





cf=j= @)&&–)&* df ;+kGg ul/Psf of]hgfx?sf] 

;+VofTds ljj/0f

• cf=j= @)&&÷)&* df ;DkGg of]hgfx?sf] ;+IfLKt ljj/0f

lgsfo of]hgf ;+Vof ;+emf}tf ;DkGg ;DkGg ;+Vof k|ult k|ltzt

Muni 141 136 136 96.45

W1 16 15 15 93.75

W2 28 24 24 85.71

W3 16 15 15 93.75

W4 13 12 12 92.31

W5 30 29 29 96.67

W6 26 22 22 84.62

W7 26 26 26 100.00

W8 12 11 11 91.67

W9 12 11 11 91.67

W10 22 22 22 100.00

W11 21 21 21 100.00

W12 12 12 12 100.00

W13 10 10 10 100.00

W14 17 16 16 94.12

Total 402 382 382 94.71



• qmdz M 



cf=j= @)&^–)&& sf] ef}lts k|ult

• lgdf0f tkm{

qm=;++ sfof{qmdsf] gfd lqmofsnfkx? OsfO{

nIf k|ult

s}lkmotkl/df0f kl/df0f k|ltzt

lgdf{0f tkm{

1 ;8s

6«ofs vf]Ng] sfd ls=ld= 57.86 57.86 100

;8s dd{t ;+ef/ ls=ld= 200 193.84 96.92

;8s :t/f]GgtL ls=ld= 35 32.60 93.14

;8s ;tx ;f]nLª ls=ld= 3 2.616 87.2

;8s ;tx u|fe]n ls=ld= 1 0.438 43.8

;8s kSsL gfnL lgdf{0f
ls=ld=

2.1 2.008 95.62

vf]nf÷vf]N;L sHj]

lgdf{0f uf]6f

7 6 85.71

Pr l8=lk= kfO{ qm;Lª
uf]6f

16 15 93.75

cf/ l; l; x\o'd kfO{k

qm;Lª uf]6f

3 3 100

:nfa sNe{6 lgdf{0f uf]6f 1 1 100

2 k'n lgdf{0f

2.1 emf]=k'= lgdf{0f uf]6f 1 1 100



• ejg lgdf{0f tyf dd{t tkm{

qm=;++ sfof{qmdsf] gfd lqmofsnfkx? OsfO{

nIf k|ult

s}lkmotkl/df0f kl/df0f k|ltzt

3 ejg lgdf{0f

3.1 laBfno ejg uf]6f 6 6 100

3.2 ;fd'bflos ejg uf]6f 8 8 100

k|zfz;gs ejg - j8f

sfof{no tNnf yk ;d]t_

uf]6f

5 5 100

3.3 ejg dd{t ;+ef/

laBfno ejg uf]6f 16 16 100

;fd'bflos ejg uf]6f 15 15 100

3.4 d~r lgdf{0f uf]6f 2 2 100

4 zf}rfno

4.1 zf}rfno lgdf{0f uf]6f 24 24 100



• qmdz M

qm=;++ sfof{qmdsf] gfd lqmofsnfkx? OsfO{

nIf k|ult

s}lkmotkl/df0f kl/df0f k|ltzt

5 l;8L dfu{

l;8L dfu{ lgdf{0f ld= 1000 888 88.8

l;8L dfu{ tyf /]lnª lgdf{0f
ld=

240 240 100

6 vfg]kfgL

vfg]kfgL lgdf{0f uf]6f 0 0 0

vfg]kfgL dd{t ;+ef/
uf]6f

20 20 100

7 l;+rfO{

l;+rfO{ s'nf] lgdf{0f
uf]6f

2 2 100

l;+rfO{ s'nf] dd{t ;+ef/
uf]6f

21 20.5 97.62

8 v]n d}bfg

v]n d}bfg lgdf{0f uf]6f 10 10 100

v]n d}bfg dd{t ;+ef/
uf]6f

3 3 100

9 d7 d+bL/

d7dG+bL/ lgdf{0f
uf]6f

18 18 100

d7d+bL/ dd{t ;+ef/
uf]6f

10 10 100

10 uf]/]6f] af6f]

uf]/]6f] af6f lgdf{0f
ls=ld=

2.25 2.25 100



• qmdz

qm=;++ sfof{qmdsf] gfd lqmofsnfkx? OsfO{

nIf k|ult

s}lkmotkl/df0f kl/df0f k|ltzt

v/Lb tkm{

1 h:tfkf h:tfkftf vl/b a08n 401.5 401.5 100

2 kf]nLyLg kfO{

vfg]kfgL o|of]hgsf] nfuL
ls=ld= 13.044 13.044 100

l;+rfO{ k|of]hgfsf] nfuL
ls=ld= 12.865 12.865 100

3 tof/L Uofljg tf/hfnL

tof/L Uofljgtf/hfnL vl/b

;8s tyf ljkb Joj:yfkgsf]

nfuL

uf]6f 332 332 100

4 k|of]uzfnf Joj:yfkg

k|of]uzfnfsf] nfuL cf}hf/

pks/0f tyf cGo ;fdu|L

v/Lb

;]6 1 1 100

5 ljB'tLs/0f

lkmlbd ! 7f8f] nfO{gdf ABC

cable h8fg
ls=ld= 0.54 0.54 100

6 3/ gSzf ;DaGwL

k'/fgf 3/ clen]vLs/0f uf]6f 100 70 70

gof 3/sf] gSzf :jLs[t uf]6f 25 10 40



;8s af]8{ tkm{

l;=g+= s[ofsnfkx? O{sfO nIf k|ult kl/df0f

k|ult

k|ltzt

1 ;8s :t/f]GgtL lsld 33.00 32.60 98.79

2 sHj] lgdf{0f uf]6f 2.00 2.00 100.00

3 ;8s ;tx ;f]lnª lsld 1.40 1.31 93.43

4 d]zf]g/L 6]jf kvf{n lgdf{0f ld= 430.00 403.00 93.72

5 Uofljg 6]jf kvf{n lgdf{0f 3=dL= 1000.00 973.00 97.30

6 Pr=l8=lk= kfO{k qm;Lª uf]6f 7.00 7.00 100.00

7 kSsL 8«]g lgdf{0f ls=ld= 360.00 358.00 99.44

8 ;8s ;tx u|fe]n ls=ld= 0.44 0.44 99.55



zx/L ;fzsLo ;'wf/ tkm{

l;=g+= of]hgfsf] ;f/f+; O{sfO{ nIo ef}lts k|ult k|ult k|ltzt

1 hDdf :jLs[t of]hgf uf]6f 31 30 96.7742

2 zf}rfno lgdf{0f uf]6f 5 5 100

3 sHj] lgdf{0f uf]6f 4 4 100

4 ;8s ;tx ;f]nLª ls=ld= 0.663 0.663 100

5 kSsL gfnL lgdf{0f ls=ld= 0.207 0.207 100

6 l;+rfO{ s'mf] dd{t uf]6f 1 1 100

7 sf7]k'n lgdf{0f uf]6f 2 1 50

8 ljBfono ejg lgdf{0f uf]6f 1 1 100

9 ljBfno ejg dd{t uf]6f 3 3 100

10 l;l8 lgdf{0f ld= 125 125 100

11 kfs{ lgdf{0f uf]6f 1 1 100

12 vf=kf= 6]+sL lgdf{0f uf]6f 1 1 100

13 ljBfno 3]/fjf uf]6f 2 2 100



of]hgf sfof{Gjogdf b]lvPsf ;d:ofx?

• of]hgf ;+Vofsf] t’ngfdf hgzQmLsf] ckof{Ktf

• Lgoldt of]hgf eGbf yk of]hgf ;+Vof a9L 

• oftfoft ;fwgsf] ck|ofKttf

• sf]/f]gf ;ªqmd0fsf] k|efj

• cfd pke]Qmf tyf gful/s ;dfhdf ljsf; lgdf{0fsf] sfo{df sd

rf;f]

• lgdf{0f pkef]Qmf ;ldltsf kbflwsf/Lx?df ;]jfsf] efjgfdf sdL

• lgdf{0f pkef]Qmf ;ldltsf kbflwsf/Ldf lgdf{0f sfo{ / vl/b k|s[ofdf

1fgsf] sdL

• ;ldlt lgdf{0fdf ;d:of



qmdz M

• k|fljlws sd{rf/Lx?df ;do cg';f/ gofF gofF k|ljlwx? 

;DaGwL tfnLdsf] cefj

• lg0f{o sfof{gjogdf g}/f:otf ?

• pkef]Qmfx?df a9L dxTjsfG5f .

• d'lt{ lgdf{0f÷vl/b tyf :yfkgdf :ki6 gd{ gePsf]

• Nfut cg'dfg :jLs[t ljgf ;+emf}tf u/]sf - j8f :t/df _

• ;dodf sfo{ ;'rf? gug]{ 



;dfwfgsf pkfofx? - x'g;S5 _

• ul/Psf ÷ePsf lg0f{ox? sfof{Gjogdf Wofg lbg’ kg]{ . 

• oftfoftsf] ;fwgx?sf] Jo:yfkgdf Wofg lbg]

• pkef]Qmfsf kbflwsf/Lx?nfO{ of]hgf ;+rfng ;DaGwL

cled'vLs/0f tfnLd÷uf]i7Lsf] Joj:yf ug]{

• sd{rf/Lx?nfO{ cfˆgf] st{Ao k|lt ;do ;dodf ;hu u/fO{ 

sfd r':t b'?:t ug{ u/fpg pTk|]l/t ug]{ / b08lxgtfsf] 

cGTo ug]{ .

• Kffl/t ul/Psf] jflif{s vl/b of]hgf h:tfsf] t:t} nfu’ ug]{



qmdz

• bf]>f] rf}dfl;ssf] klxnf] dxLgfd} ;+emf}tf ul/;Sg‘ kg]{

• ;'k/lehg / cg'udg k|0ffnL nfO{ k|efjsf/L agfpg' kg]{

• cfGtl/s cg'udg dfq geO{ afxf/L cg'udg ;d]t ug]{ 

u/fpg] Joj:yf eP /fd|f] .

• wGojfb



s]xL t:jL/x?





• kfyLe/f d+bL/ lkm=g=kf= !)





• t[ltof –ofªgfd ;8s 





of]hgf ;+emf}tf / ;DkGgsf] l:ylt
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;+emf}tf of]hgf ;+Vof

;DkGg of]hgf ;+Vof

dxLgf
;+emf}tf of]hgf

;+Vof

;DkGg of]hgf 

;+Vof

>fj0f 5 0

efb| 3 0

cflZjg 2 0

sflt{s 13 0

d+;L/ 38 4

kf}if 79 12

df3 48 40

kmfNu'g 38 19

r}q 24 18

j}zfv 25 22

h]i7 26 60

c;f/ 10 125

311 300


